Oznaczenie kabla P; I It L AU In= (Ko X lga) 1= 1,45 X (kp X lag)
Lp. . Typ kabla
(poczatek :koniec) | kWl | A1 | Al (m | ) [ 1
WLZAN
1 WLZAN : TNAO.1 20,0 12,0 40,0 N2XH-J 5x 10 5,0 0,04 400 = 540| 640 < 783
2 WLZAN : TNAO.2 15,9 9,8 40,0 N2XH-J 5x 10 5,0 0,03 400 = 540| 640 < 783
3 WLZAN : TNA1 11,0 6,8 40,0 N2XH-J 5x 10 5,0 0,02 400 = 540| 640 < 783
4 WLZAN : TNA2.2 13,7 84 40,0 N2XH-J 5x 10 5,0 0,03 400 = 540| 640 < 783
5 WLZAN : TNA3 6,5 42 40,0 N2XH-J 5x 10 5,0 0,01 400 = 540| 640 < 783
6 WLZAN : TNA4 6,0 4,0 40,0 N2XH-J 5x 10 5,0 0,01 400 = 540| 640 < 783
WLZAU
1 WLZAU : TUA0.1 3,6 4,0 25,0 N2XH-J 5x 6 5,0 0,02 250 = 389| 400 < 564
2 WLZAU : TUA0.2 16 18 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
3 WLZAU : TUA1 2,1 24 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
4 WLZAU : TUA2.2 1,0 11 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
5 WLZAU : TUA3 2,1 24 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
6 WLZAU : TUA4 3,0 34 250 N2XH-J 5x 6 50 0,02 250 < 389 400 < 564
WLZLN
1 WLZLN : TNLO 15,2 94 40,0 N2XH-J 5x 10 50 0,03 400 < 540 640 < 783
2 WLZLN : TNL1 8,0 52 40,0 N2XH-J 5x 10 50 0,02 400 < 540 640 < 783
3 WLZLN : TNL2 10,6 6,6 40,0 N2XH-J 5x 10 50 0,02 400 < 540| 640 < 783
WLZLU
1 WLZLU : TULO 2,1 24 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
2 WLZLU : TUL1t 16 18 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
3 WLZLU : TUL2 15 1,7 25,0 N2XH-J 5x 6 50 0,01 250 < 389| 400 < 564
WLZBN
1 WLZBN : TNB-1 19,3 11,9 40,0 N2XH-J 5x 10 50 0,04 400 < 540 640 < 783
2 WLZBN : TNBO 18,9 11,8 40,0 N2XH-J 5x 10 50 0,04 400 < 540 640 < 783
3 WLZBN : TNB1 14,8 94 40,0 N2XH-J 5x 10 50 0,03 400 < 540 640 < 783
4 WLZBN : TNB2 11,6 73 40,0 N2XH-J 5x 10 50 0,03 400 < 540 640 < 783
WLZBU
1 WLZBU : TUBO 84 94 25,0 N2XH-J 5x 6 50 0,06 250 < 389| 400 < 564
2 WLZBU : TUB1 37 42 25,0 N2XH-J 5x 6 50 0,02 250 < 389| 400 < 564
3 WLZBU : TUB2 2,6 29 25,0 N2XH-J 5x 6 50 0,02 250 < 389| 400 < 564
RUPS
1 RUPS : WLZAU 134 151 40,0 N2XH-J 5x 10 40,0 | 043 400 < 540 640 < 783
2 RUPS : WLZLU 5,2 58 40,0 N2XH-J 5x 10 55,0 | 023 400 < 549| 640 < 796
3 RUPS : WLZBU 147 16,5 40,0 N2XH-J 5x 10 850 | 0,99 400 < 549| 640 < 796
4 RUPS : TUA2.1 41 46 40,0 N2XH-J 5x 10 30,0 | 0,10 400 < 540 640 < 783
RGPB
1 RGPB : WPB 4,0| 58 20,0| E90 (N)HXHzo 5x 4 20,0 | 0,20 200 < 30,2 320 < 438
RGPA
1 RGPA : THYDR 25 3,6 20,01 E90 (N)HXHzo 5x 4 20,0 | 0,13 200 < 30,2 320 < 438
2 RGPA : WPA 4,0 58 20,01 E90 (N)HXHzo 5x 4 20,0 | 0,20 200 < 30,2 320 < 438
RGN
1 RGN : WLZAN 73,0 36,2 63,0 N2XH-J 5x 16 40,0 | 0,64 630 < 72,0] 1008 < 1044
2 RGN : TNA-1 6,8 41 40,0 N2XH-J 5x 10 20,0 | 0,06 400 < 540 640 < 783
3 RGN : TNA2.1 19,9 12,4 40,0 N2XH-J 5x 10 30,0 | 0,26 400 < 540 640 < 783
4 RGN : TDA 9,0 77 40,0 N2XH-J 5x 10 10,0 [ 0,05 400 < 540 640 < 783
5 RGN : TWCA 50 77 40,0 N2XH-J 5x 10 150 | 0,08 400 < 540 640 < 783
6 RGN : TNL3 60,7 814 100,0 N2XH-J 5x 50 60,0 | 0,65 1000 < 1296 1600 < 1879
7 RGN : WLZLN 338 13,6 63,0 N2XH-J 5x 16 55,0 | 0,33 630 < 71,11 1008 < 1031
8 RGN : WLZBN 64,6 344 63,0 N2XH-J 5x 25 850 | 083 630 < 90,9| 1008 < 1318
9 RGN : TDB 9,0 77 40,0 N2XH-J 5x 10 60,0 | 0,31 400 < 549| 640 < 796
10 RGN : TWCB 4,0 6,1 40,0 N2XH-J 5x 10 850 | 0,35 400 < 549| 640 < 796
1 RGN : TGAR 50 24 32,0 YKYzo 5x 10 850 | 0,14 320 < 468| 512 < 679
12 RGN : RUPS 374 378 63,0 N2XH-J 5x 16 10,0 | 0,17 630 < 72,0] 1008 < 1044
13 RGN : RGP 144 18,7 63,01 E90 (N)HXHzo 5x 16 10,0 [ 0,08 630 < 72,0] 1008 < 1044
14 RGP : RGPB 45 58 35,01 E90 (N)HXHzo 5x 10 750 | 0,31 350 < 549 560 < 796
15 RGP : RGPA 9,9 14,3 35,01 E90 (N)HXHzo 5x 10 10,0 | 0,10 350 < 540 5,0 < 783
16 RGN : RUPS-BYPAS 374 37,8 63,0 N2XH-J 5x 16 10,0 | 0,17 630 < 72,01 1008 < 1044
17 RGN : INWL 6,0 9,6 25,0 N2XH-J 5x 10 85,0 | 0,58 250 < 549] 400 < 796
Bateria kondensatoréw
1 RGN : BK1 20,0| 46,2 50,0| N2XH-J 5x 16 100 | 023 50,0 < 72,0 800 < 1044
ZK
1 ZK : RGN 110,01 1709 200,0 4x N2XH 1x 95 150 | 0,20 2000 = 298,0] 3200 < 4321
2 GENl : |RGF’ 16,0 24,9 50,0 YnKYz6 5X|16 55,0 | 0,63 50,0 < 603] 725 < 874




